This document may be reproduced upon request in an alternative format by contacting the County ADA Coordinator (772) 320-3131, the County Administration Office (772) 288-5400, Florida Relay 711, or by completing our accessibility feedback form at <a href="https://www.martin.fl.us/accessibility-feedback">www.martin.fl.us/accessibility-feedback</a>



# AGREEMENT BETWEEN COUNTY AND CONTRACTOR FOR GOODS AND SERVICES

THIS AGREEMENT, effective this 27th day of April in the year, 2025, between:

MARTIN COUNTY BOARD OF COUNTY COMMISSIONERS, a political subdivision of the State of Florida, (hereinafter COUNTY), located at 2401 S.E. Monterey Road, Stuart, FL 34996

AND the CONTRACTOR: Palmdale Oil Company, LLC (hereinafter CONTRACTOR) 7111 Fairway Drive, Suite 450

Palm Beach Gardens, FL 33418

Contract Name: Oils & Lubricants for County Vehicle Fleet, Machinery &

Equipment

Contract Number: RFB2025-3658

Contract Term: Three (3) years plus two (2) 1-year renewal options

(Not to exceed 5 years)

Not to Exceed Amount: \$300,000.00

WHEREAS, COUNTY has previously determined that it has a need for goods and/or services more specifically outlined in the Request for Bids (RFB) and the Scope of Services; and

WHEREAS, COUNTY solicited competitive bids for such services pursuant to the Martin County bid number referenced on Page 1 of this Agreement; and

WHEREAS, COUNTY awarded the Bid to CONTRACTOR; and

**WHEREAS**, CONTRACTOR has represented that it is able to satisfactorily provide the services and or materials according to the terms and conditions of the RFB, which is incorporated herein by reference, and the terms and conditions contained herein; and

**NOW THEREFORE,** in consideration of the above and mutual covenants contained herein, the parties agree as follows:

- 1. <u>Services to be Performed</u>. The CONTRACTOR hereby agrees to provide the COUNTY with goods and services, as requested and more specifically outlined in the Scope of Services attached hereto and made a part hereof as Exhibit A, this Agreement and all subsequent official documents that form the Contract Documents for this Agreement, including any additional contract terms contained herein.
- **2.** <u>Time of Service</u>. Services shall be performed in a timely manner, as specified in the Request for Bid or as set forth herein.
- 3. <u>Term of Agreement/Option of Renewal</u>. This Agreement shall be in effect from the date of execution and for the term and agreed upon renewal options indicated on Page 1 of this Agreement. This Agreement may be extended subject to execution of a written agreement between the COUNTY and CONTRACTOR for up to 90 additional days beyond the term and agreed upon renewal options. This option shall be exercised only if all prices, terms and conditions remain the same, or decrease.
- **4.** Amendment of the Agreement. This Agreement may be amended only by mutual written agreement signed by the parties. No statement, representations, warranties, either written or oral, from whatever source arising, except as expressly stated in this Agreement, shall have any legal validity between the parties or is binding upon any of them. The parties acknowledge that this agreement contains the entire understanding and agreement of the parties. No modifications hereof shall be effective unless made in writing and executed by the parties hereto with the same formalities as this Agreement is executed.
- 5. Assignment/Subcontracting. The CONTRACTOR shall perform all services and provide all goods and equipment required by this Agreement. No assignment or subcontracting shall be allowed without the prior written consent of the COUNTY. In the event of a corporate acquisition and/or merger, the CONTRACTOR shall provide written notice to the COUNTY within thirty (30) business days of CONTRACTOR'S notice of such action or upon the occurrence of said action, whichever occurs first. The right to terminate this Agreement, which shall not be unreasonably exercised by the COUNTY, shall include, but not be limited to, instances in which a corporate acquisition and/or merger represent a conflict of interest or are contrary to any local, state or federal laws. Action by the COUNTY awarding a bid to a bidder,

which has disclosed its intent to assign or subcontract in its response to the RFB, without exception shall constitute approval for purpose of this Agreement.

#### 6. Termination.

- 6.1 COUNTY shall notify CONTRACTOR of any failure to comply with any requirement in the Scope of Work and shall notify CONTRACTOR in writing of such failure/default. CONTRACTOR shall correct such failure/default within five (5) working days. COUNTY shall have the right to terminate this Agreement if such correction is not made within the time specified above.
- 6.2 Failure of the CONTRACTOR to comply with any of the provisions of this Agreement shall be considered a material breach of Agreement and shall be cause for immediate termination of the Agreement at the sole discretion of the COUNTY.
- 6.3 COUNTY reserves the right to cancel this Agreement, without cause, by giving thirty (30) days prior written notice to the CONTRACTOR of the intention to terminate.
- **7.** <u>Compensation.</u> COUNTY shall pay CONTRACTOR upon CONTRACTOR's completion of, and COUNTY's acceptance of, the services required herein, in the amounts specified in the Price Schedule attached hereto and made a part hereof as Exhibit B. Price escalations will be considered at the end of each year and must be documented with written verifications of industry price increases.
- 7.1 The County may in its sole discretion make an equitable adjustment in the pricing if pricing or availability of supply is affected by extreme and unforeseen volatility in the marketplace that is by circumstances that satisfy all of the following:
  - a. The volatility is due to causes wholly beyond the successful bidder's control.
  - b. The volatility affects the marketplace or industry, not just the particular successful bidder source of supply.
  - c. The effect on pricing or availability of supply is substantial.
  - d. The volatility so affects the successful bidder that continued performance of the contract would result in a substantial loss.
- 7.2 Any adjustment would require irrefutable evidence and written approval by the Purchasing Manager.
- 7.3 If an adjustment to pricing is granted, beginning quarterly on dates agreed to between the County and the awardee, the awardee shall provide the Purchasing Manager with written justification to continue the pricing adjustment. If awardee does not provide the quarterly update, pricing shall revert back to the original pricing submitted by the awardee.
- 7.4 COUNTY shall pay invoices in accordance with the Local Government Prompt Payment Act.
- **8.** <u>Permit/ Licenses</u>. CONTRACTOR must secure and maintain any and all permits and licenses required to complete this Agreement.

#### 9. Public Records.

- 9.1 CONTRACTOR shall comply with the provisions of Chapter 119, Fla. Stat. (Public Records Law), in connection with this Agreement and shall provide access to public records in accordance with §119.0701, Fla. Stat. and more specifically Contractor shall:
  - 9.1.1 Keep and maintain public records required by the County to perform the Agreement.
  - 9.1.2 Upon request from the County's custodian of public records, provide the County with a copy of the requested records or allow the records to be inspected or copied within a reasonable time at a cost that does not exceed the cost provided in Chapter 119, Fla. Stat. or as otherwise provided by law.
  - 9.1.3 Ensure that public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law for the duration of the Agreement term and following completion of the Agreement if the CONTRACTOR does not transfer the records to the County.
  - 9.1.4 Upon completion of the Agreement, transfer, at no cost, to the County all public records in possession of the CONTRACTOR or keep and maintain public records required by the County to perform the Agreement. If the CONTRACTOR transfers all public records to the County upon completion of the Agreement, the CONTRACTOR shall destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. If the CONTRACTOR keeps and maintains public records upon completion of the Agreement, the CONTRACTOR shall meet all applicable requirements for retaining public records. All records stored electronically must be provided to the County, upon request from the County's custodian of public records, in a format that is compatible with the information technology systems of the County.
  - 9.1.5 All blueprints, schematics and design drawings received by the CONTRACTOR from the COUNTY shall not be re-copied or forwarded to another party unless documented permission has been received by COUNTY. Documents shall be documented as retained, returned, or destroyed by CONTRACTOR accepting said documents. In accordance with the Florida Public Records Act, these documents are exempt from Public Disclosure as described in 119.071, Fla. Stat., general exemptions from inspection or copying of public records.
- 9.2 IF THE CONTRACTOR HAS QUESTIONS REGARDING THE APPLICATION OF CHAPTER 119, FLORIDA STATUTES, TO THE CONTRACTOR'S DUTY TO PROVIDE PUBLIC RECORDS RELATING TO THIS CONTRACT, CONTACT THE CUSTODIAN OF PUBLIC RECORDS AT (772) 419-6959, <a href="mailto:public\_records@martin.fl.us">public\_records@martin.fl.us</a>, 2401 SE MONTEREY ROAD, STUART, FL 34996.

- 9.3 Failure to comply with the requirements of this Article shall be deemed a default as defined under the terms of this Agreement and constitute grounds for termination.
- 10. Minimum Insurance Requirement. The CONTRACTOR must maintain insurance in at least the amounts required throughout the term of this Agreement or any renewals or extensions. The CONTRACTOR must provide a Certificate of Insurance in accordance with the Insurance Requirements and as set forth herein naming the COUNTY as an additional insured evidencing such coverage prior to issuance of a purchase order or commencement of any work under this Agreement.
  - a. <u>Loss Deductible Clause</u>: The COUNTY shall be exempt from, and in no way liable for, any sums of money which may represent a deductible in any insurance policy. The payment of such deductible shall be the sole responsibility of the Contractor and/or subcontractor providing such insurance.
  - b. Worker's Compensation Insurance: The Contractor shall take out and maintain during the life of this Agreement, Worker's Compensation Insurance for all of its employees connected with the work of this project and, in case any work is sublet, the Contractor shall require the subcontractor similarly to provide Worker's Compensation Insurance for all of the latter's employees unless such employees are covered by the protection afforded by the Contractor. Such insurance shall comply fully with the Florida Worker's Compensation Law. In case any class of employees engaged in hazardous work under this contract at the site of the project is not protected under the Worker's Compensation statute, the Contractor shall provide, and cause each subcontractor to provide adequate insurance, satisfactory to the COUNTY for the protection of its employees not otherwise protected. Coverage to include Employers Liability \$100,000 each Disease/Employee accident. \$100.000 each and \$500,000 each Disease/Maximum.
  - c. <u>Commercial Automobile Liability Insurance</u>: The Contractor shall take out and maintain during the life of this agreement Comprehensive Automobile Liability Insurance for "**Any Auto**" (owned, hired and non-owned) for a minimum of \$1,000,000 Combined Single Limit. The County is to be named as Additional Insured.
  - d. <u>Commercial General Liability Insurance</u>: The Contractor shall take out and maintain during the life of this agreement Commercial General Liability Insurance including coverage for bodily injury, property damage, personal/advertising injury and products/completed operations for negligent acts which may arise from operations under this Agreement whether such operations are alone or by anyone directly or indirectly employed by it. The policy should include Contractual Liability to cover the hold harmless and indemnity provision as set forth in this agreement. The County is to be named as Additional Insured on a primary and noncontributory basis.

The amounts of such insurance shall be the minimum limit as follows:

Each Occurrence - \$1,000,000 Personal/Advertising Injury - \$1,000,000 Products/Completed Operations Aggregate - \$2,000,000 General Aggregate - \$2,000,000

Fire Damage - \$100,000 and 1 fire Medical Expense - \$10,000 any 1 person

- e. <u>Commercial Automobile, General Liability and Workers Compensation Insurance:</u>
  The Contractor shall require each of its subcontractors to procure and maintain during the life of this subcontract, insurance of the type specified above or insure the activities of his subcontractors in its policy, as specified above.
- f. Waiver of Subrogation. The CONTRACTOR hereby waives any and all rights of Subrogation against the COUNTY, its officers, employees and agents for each required policy. When required by the insurer or should a policy condition not permit an insured to enter into a pre-loss agreement to waive subrogation without an endorsement, then the CONTRACTOR shall agree to notify the insurer and request the policy be endorsed with a Waiver of Transfer of rights of Recovery Against Others, or its equivalent.
- 11. <u>Indemnification</u>. CONTRACTOR shall indemnify and hold harmless the COUNTY and Federal government from all suits, actions or claims of any character brought on account of any injuries or damages received or sustained by any person, person or property by or from the said CONTRACTOR; or by, or in consequence of any neglect in safeguarding the work; or by the use of unacceptable materials in the construction of improvements; or on account of any act or omission, neglect or misconduct of the said CONTRACTOR; or by, or on account of, any claim or amounts recovered under the "Workers Compensation Law" or of any other laws, bylaws, ordinance, order or decree, except only such injury or damage as shall have been occasioned by the sole negligence of the COUNTY. The first ten dollars (\$10.00) of compensation received by the CONTRACTOR represents specific consideration for this indemnification obligation.
  - 12. Governing Law. The laws of the State of Florida shall govern this Agreement.
- 13. Independent Contractor Status and Compliance with the Immigration Reform and Control Act of 1986. The CONTRACTOR is and shall remain an independent contractor and is neither agent, employee, partner nor joint venture of COUNTY. CONTRACTOR acknowledges that it is responsible for complying with the provisions of the Immigration Reform and Control act of 1986 located at 8 U.S.C. 1324, et. Seq., and regulations relating thereto, as either may be amended from time to time. Failure to comply with the above provisions shall be considered a material breach and shall be grounds for immediate termination of the Agreement, at the discretion of COUNTY.
- **14.** <u>Severability</u>. The terms and conditions of this Agreement shall be deemed to be severable. Consequently, if any clause, term, or condition hereof shall be held to be illegal or void, such determination shall not affect the validity or legality of the remaining terms and conditions, and notwithstanding any such determination, this Agreement shall continue in full force and effect unless the particular clause, term, or condition held to be illegal or void renders the balance of the Agreement to be impossible or performance.
- 15. <u>Conflict of Interest</u>. CONTRACTOR represents that it has no interest and shall acquire no interest(s), which conflict in any manner with the performance of services required

hereunder, as provided for in Chapter 112, Part 111, of the Florida Statutes, CONTRACTOR further represents that no person having any interest shall be employed for said performance. CONTRACTOR shall notify COUNTY in writing by certified mail of all potential conflicts of interest for any prospective business association, interest or other circumstance which may influence or appear to influence CONTRACTOR'S judgment or quality of services being provided hereunder. Such written notification shall identify the prospective business association, interest or circumstance, the nature of work that CONTRACTOR may undertake and request an opinion from COUNTY, the prospective business association, interest or circumstance would not constitute a conflict of interest by CONTRACTOR, COUNTY shall so state in the notification and CONTRACTOR shall, at its option, enter into said association, interest or circumstance and it shall be deemed not in conflict with respect to services provided to COUNTY by CONTRACTOR under the terms of this Agreement.

- **16.** <u>Documents Comprising Agreement</u>. The Agreement documents shall include this Agreement as well as the following documents, which are incorporated herein by reference.
  - a. Martin County's Request for Bid and all of its addenda and attachments which are part of the RFB set forth above.
  - b. Contractor's Certificate of Insurance required in the Request for Bid;
  - c. Contractor's response to the RFB or soliciting document.

#### 17. Dispute Resolution.

- 17.1 As a condition precedent to the filing of any legal proceedings, the parties shall endeavor to resolve claim disputes or other matters in question by mediation. Mediation shall be initiated by any party by serving a written request for same on the other party. The party shall, by mutual agreement, select a mediator within 15 days of the date of the request for mediation. If the parties cannot agree on the selection of a mediator then the COUNTY shall select the mediator, who, if selected solely by the COUNTY, shall be a mediator certified by the Supreme Court of Florida. The mediator's fee shall be paid in equal shares by each party to the mediator.
- 17.2 <u>Attorney's Fees.</u> The parties expressly agree that each party will bear its own attorney's fees incurred in connection with this Agreement.
- 17.3 <u>Venue.</u> This Agreement and the terms hereof shall be construed in accordance with the laws of the State of Florida and venue for all actions in a court of competent jurisdiction shall lie in Martin County, Florida.
- 17.4 **Non-jury trial.** The parties expressly and specifically hereby waive the right to a jury trial as to any issue in any way connected with this Agreement.
- 17.5 The parties expressly and specifically hereby waive all tort claims and limit their remedies to breach of contract as to any issue in any way connected with this Agreement.

#### 18. Confidential Information.

18.1 Any information such as specifications, drawings, sketches, business information, forecasts, models, samples, data, computer programs and other software, and

documentation of one Party (a "Disclosing Party") that is furnished or made available or otherwise disclosed to the other Party or to such other Party's employees, contractors, or agents (a "Receiving Party") pursuant to this Agreement ("Proprietary Information") shall be deemed the property of the Disclosing Party. Proprietary Information, if written, shall be clearly and conspicuously marked "Proprietary". Such information may be disclosed to those persons who have a need for it in connection with the provision of services required to fulfill this Agreement and shall be used by those persons only for such purposes; and may be used for other purposes only upon such terms and conditions as may be mutually agreed to in advance of such use in writing by the Parties. Notwithstanding the foregoing sentence, COUNTY shall be entitled to disclose or provide Proprietary Information as required by any governmental authority or applicable law, including but not limited to Section 119, Fla. Stat. Existence and terms of this Agreement shall constitute a public record and shall be subject to Section 119, Fla. Stat. CONTRACTOR agrees to comply with the requirements of Sec. 119.0701, Fla. Stat.

- 18.2 If COUNTY receives a public records request for public records received from CONTRACTOR, including any public records request for Proprietary Information or for records that may be or may contain Proprietary Information, COUNTY shall promptly notify CONTRACTOR. The notice shall inform CONTRACTOR that it must promptly inform COUNTY, in writing, whether or not CONTRACTOR claims an exemption to the release of part or all of the requested public record. If CONTRACTOR claims that part or all of a public record is exempt from inspection and copying, that writing shall state the basis of the exemption that it contends is applicable to the record, including the statutory citation to an exemption created or afforded by statute. If CONTRACTOR claims that an exemption applies to part of a requested public record, CONTRACTOR shall, in that writing, identify for redaction the part of that public record to which the exemption is asserted and validly applies, and the remainder of that public record shall be produced for inspection and copying. If CONTRACTOR promptly notifies COUNTY of a claim of exemption, COUNTY shall review the exemption claimed and decide whether to release the public records. If CONTRACTOR fails to promptly notify COUNTY that it claims an exemption to the release of the requested public record, that failure constitutes a waiver of any claim of trade secret or confidentiality, and COUNTY shall release the record as requested.
- 18.3 CONTRACTOR will indemnify, defend, and hold COUNTY, COUNTY's elected officials, employees, agents, and attorneys and their successors (each an "Indemnitee") harmless of and from any claim brought or threatened against any Indemnitee by any person or entity on account of or related to any public records request for public records, as that term is defined in Section 119.011, Fla. Stat., that are or may be or may contain Proprietary Information, each of which may be defended, settled or pursued by COUNTY with counsel of COUNTY's choice but at the expense of CONTRACTOR, including reasonable attorneys' fees and costs, including attorneys' fees and costs in litigation and on appeal incurred by or awarded against any Indemnitee or agreed upon by any Indemnitee as part of any settlement of any claim for attorney's fees and costs for failure to produce requested public records disclosed to an Indemnitee by CONTRACTOR.
- 18.4 In the event of the expiration or termination of this Agreement for any reason whatsoever, each Party shall return to the other Party Proprietary Information and other documents, work papers and other material (including all copies thereof) obtained from the other Party in connection with this Agreement, subject to Chapter 119 and other public records retention requirements set forth in Florida law.

- **19.** Requirement to E-Verify. As a condition precedent to entering into this AGREEMENT, and in compliance with Section 448.095, Fla. Stat., Contractor and its subcontractors shall, register with and use the E-Verify system to verify work authorization status of all employees hired after January 1, 2021.
  - A. Contractor shall require each of its subcontractors to provide Contractor with an affidavit stating that the subcontractor does not employ, contract with, or subcontract with an unauthorized alien. Contractor shall maintain a copy of the subcontractor's affidavit as part of and pursuant to the records retention requirements of this AGREEMENT.
  - B. The COUNTY, Contractor, or any subcontractor who has a good faith belief that a person or entity with which it is contracting has knowingly violated Section 448.09(1), Fla. Stat., or the provisions of this section shall terminate the contract with the person or entity.
  - C. The COUNTY, upon good faith belief that a subcontractor knowingly violated the provisions of this section, but Contractor otherwise complied, shall promptly notify Contractor and Contractor shall immediately terminate the contract with the subcontractor.
  - D. A contract terminated under the provisions of this section is not a breach of contract and may not be considered such. Any contract termination under the provisions of this section may be challenged pursuant to Section 448.095(5)(d), Fla. Stat. Contractor acknowledges that upon termination of this AGREEMENT by the COUNTY for a violation of this section by Contractor, Contractor may not be awarded a public contract for at least one (1) year. Contractor further acknowledges that Contractor is liable for any additional costs incurred by the COUNTY as a result of termination of any contract for a violation of this section.
  - E. Subcontracts. Contractor or subcontractor shall insert in any subcontracts the clauses set forth in this section, including this subsection, requiring the subcontractors to include these clauses in any lower tier subcontracts. Contractor shall be responsible for compliance by any subcontractor or lower tier subcontractor with the clauses set forth in this section.

If there is a conflict between the terms of this Agreement and the above referenced documents, then the conflict shall resolved as follows: the terms of this Agreement shall prevail over the other documents, and the terms of the remaining documents shall be given preference in their above listed order.

(continued on next page)

IN WITNESS WHEREOF, the COUNTY and the CONTRACTOR have executed this Agreement as of the date first above written.

**REVIEWED BY** 

Sean Donahue, P.E., B.C.A. General Services Director

PALMDALE OIL COMPANY, LLC

Clavers

Billy Chavers CFO BOARD OF COUNTY COMMISSIONERS MARTIN COUNTY, FLORIDA

Matthew Graham

**Assistant County Administrator** 

APPROVED AS TO FORM & LEGAL SUFFICIENCY

Sarah W. Woods
County Attorney

#### **EXHIBIT A**

#### SCOPE OF SERVICES

#### Introduction

This document outlines the scope of work for the supply of oils and lubricants required by the Martin County Board of County Commissioners (hereinafter referred to as "the County"). The purpose of this procurement is to ensure that the County's fleet of vehicles, machinery, and other equipment maintain optimal performance and are properly maintained, in compliance with established technical specifications and regulatory standards.

#### **Objective**

The objective of this procurement is to establish a contract for the supply, delivery, and ongoing support of oils and lubricants to meet the operational needs of the County. The selected supplier will be expected to deliver high-quality products, ensure timely and efficient delivery, and adhere to all applicable local, state, and federal regulations.

## **Product Specifications and Requirements**

The County requires the following oils and lubricants, in accordance with the relevant industry standards and regulatory requirements:

- Engine Oils
- Transmission Fluids
- Hydraulic Oils
- Gear Oils
- Industrial Lubricants
- Greases
- Additives (e.g., fuel additives, anti-wear additives, as applicable)

#### All products must:

- Conform to American Petroleum Institute (API) standards and SAE specifications or other certifications as required by the County.
- Be free from contaminants and suitable for use in County-owned vehicles, machinery, and equipment.
- Be accompanied by a Certificate of Analysis (CoA) verifying that the product meets the specified standards.

## **Delivery Requirements**

- Frequency and Quantities:
  - Quantities and delivery schedules for oils and lubricants will be determined on an as-needed basis, based on the County's operational requirements and equipment usage.

 The supplier must be capable of providing the required quantities on varying schedules, including the ability to accommodate emergency or expedited orders as necessary.

## Delivery Locations

Deliveries will be made to the following Martin County locations:

- Martin County Vehicle Maintenance
   2555 SE Avenger Circle, Stuart, FL 34996
- Martin County Fire Rescue Fleet Maintenance
   951 SE Ruhnke Street, Stuart, FL 34994
- Martin County Utilities & Solid Waste
   9101 SW Busch Street, Palm City, FL 34990

The supplier is responsible for ensuring the safe and timely delivery of products to these locations.

## Packaging:

- All oils and lubricants must be packaged in containers that ensure safe handling, transportation, and storage.
- Bulk deliveries will require appropriate methods, such as tanker trucks or drums, which should be specified by the bidder.

#### • Delivery Timeliness:

- Deliveries should be made within 24 hours from when the order is received.
- Delivery periods may be extended at the County's discretion, depending on operational needs or unforeseen circumstances.

#### **Quality Assurance and Compliance**

#### Product Quality:

- The supplier is responsible for ensuring that all oils and lubricants meet the specifications outlined by the County, as well as relevant industry standards.
- A Certificate of Analysis (CoA) must be provided with each delivery, confirming that the product meets the applicable standards.

## • Regulatory Compliance:

- The supplier must comply with all local, state, and federal regulations concerning the handling, transportation, and disposal of oils and lubricants.
- The supplier must adhere to all safety regulations related to hazardous materials, including providing Safety Data Sheets (SDS) for each product.

#### **Supplier Qualifications**

• The supplier must hold all necessary licenses, certifications, and insurance required to perform the work in compliance with local, state, and federal regulations.

## **Bid Form Estimated Quantities**

 The estimated quantities provided in this bid are for the purposes of price comparison and are not intended to be all inclusive. Actual quantities may vary depending on the County's operational needs. The bidder should base their pricing on these estimates for evaluation purposes, but the final payment will be determined based on the actual quantities ordered and delivered.

## <u>Warranty</u>

- Warranty Coverage
  - The contractor warrants that all oils, lubricants, and related supplies provided under this contract shall be free from defects in material and workmanship and shall conform to the specifications outlined in the bid documents. The products shall be of the highest quality, suitable for their intended use, and free from any defects or failures that may adversely affect their performance.
- Claim Procedure
  - o In the event of a warranty claim, the County shall promptly notify the contractor in writing of any defects or issues. Upon notification, the contractor shall investigate the claim and take corrective action, including repair or replacement of the defective product. If repair or replacement is not feasible, the contractor shall provide a full refund for the defective items.

The County may add goods and/or services at any time during the term of this Agreement at a cost to be agreed upon by the Vendor and the County.

Martin County shall not be held to any minimum or maximum purchase quantities.

The County reserves the right to award the Contract to one or more bidders or not make any award(s) under this bid.

#### **BID FORM NOTES / INSTRUCTIONS**

- Bidders must specify the Brand/Make for each item listed in the bid form by completing the "Brand/Make" column.
  - o Items marked with an asterisk (\*) indicate the preferred brand. If supplying the preferred brand, only pricing is required.
    - If the preferred brand is unavailable, bidders should provide an equivalent alternative along with the corresponding pricing.

## EXHIBIT B

## RFB2025-3658 OILS & LUBRICANTS FOR COUNTY VEHICLE FLEET, MACHINERY, AND EQUIPMENT

	This	form shall be typewr	itten. Handwri	tten forms will not	t be accepted.				
ITEM NO.	DESCRIPTION	BRAND/MAKE	VISCOSITY	UNIT OF MEASURE (UOM)	ESTIMATED QUANTITY	PRICE (PER UOM)		TOTAL	
		SE	CTION 1: MOT	OR OIL					
1.1	Full Synthetic (Dexos Approved)	TEXSTAR	5W-30	Quart Bottle	40	\$	4.00	\$ 160.00	
1.2	Full Synthetic (Dexos Approved)	TEXSTAR	5W-30	55 Gallon Drum	10	\$	486.67	\$ 4,866.70	
1.3	Full Synthetic (Dexos Approved)	TEXSTAR	5W-30	BULK (Gallons)	300	\$	8.00	\$ 2,400.00	
1.4	Full Synthetic (Dexos Approved)	TEXSTAR	0W-20	Quart Bottle	40	\$	4.00	\$ 160.00	
1.5	Full Synthetic (Dexos Approved)	TEXSTAR	0W-20	55 Galion Drum	6	\$	486.67	\$ 2,920.02	
1.6	Conventional SAE	CASTROL.	30W	Quart Bottle	100	\$	12.65	\$ 1,265.00	
1.7	Synthetic (CK-4)	TEXSTAR	15W-40	BULK (Gallons)	750	\$	8.27	\$ 6,202.50	
1.8	Synthetic (CK-4)	TEXSTAR	15W-40	Quart Bottle	40	\$	3,58	\$ 143.20	
1.9	Synthetic (CK-4)	TEXSTAR	15W-40	55 Gallon Drum	2	\$	501.33	\$ 1,002.66	
1.1	Full Synthetic	CASTROL	0W-16	Quart Bottle	40	\$	7.72	\$ 308.80	
1.11	Full Synthetic	CASTROL	0W-16	55 Gallon Drum	1	\$	1,480.67	\$ 1,480.67	
*1.12	Premium Blue One, Gen2	CASTROL	15W-40	BULK (Gallons)	750	\$	17.98	\$ 13,485.00	
1.13	Semi-Synthetic (CK-4)	TEXSTAR	15W-40	BULK (Gallons)	500	\$	8.27	\$ 4,135.00	
				SEC	TION 1: MOTO	R OIL	(TOTAL)	\$ 38,529.55	

ITEM NO.	DESCRIPTION	BRAND/MAKE	VISCOSITY	UNIT OF MEASURE (UOM)	ESTIMATED QUANTITY	PRICE UO		TOTAL
		SECTI	ON 2: HYDR	AULIC OIL				
2.1	Hydraulic, Oil	TEXSTAR	AW68	BULK (Gallons)	1000	\$	6.67	\$ 6,670.00
2,2	Hydraulic, Oil	TEXSTAR	AW46	BULK (Gallons)	500	\$	6.67	\$ 3,335.00
2.3	Hydraulic, Oil	TEXSTAR	AW68	Pail (5 Gallon)	15	\$	44.00	\$ 660.00
2.4	Hydraulic, Oil	TEXSTAR	AW46	Pail (5 Gallon)	6	\$	44.00	\$ 264.00
2.5	Hydraulic, Oil	TEXSTAR	AW32	Pail (5 Gallon)	6	\$	44.33	\$ 265.98
2.6	Universal Tractor Hydraulic Fluid	CAM2	UTH	Drum (55 Gallon)	2	\$ (	310.60	\$ 1,221.20
2.7	Universal Tractor Hydraulic Fluid	CAM2	UTH	Pail (5 Gallon)	2	\$	61.93	\$ 123.86
	<u>.                                    </u>			SECTION	12: HYDRAUL	C OIL (T	OTAL)	\$ 12.540.04

ITEM NO.	DESCRIPTION	BRAND/MAKE	VISCOSITY	UNIT OF MEASURE (UOM)	ESTIMATED QUANTITY	100000000000000000000000000000000000000	CE (PER JOM)		TOTAL	
	SECTION 3: DIESEL EXHAUST FLUID									
3.1	Diesel Exhaust Fluid	YARA	DEF	BULK (Gallons)	1120	\$	1.79	\$	2,004.80	
3.2	Diesel Exhaust Fluid	YARA	DEF	Case (2.5 Gallon)	250	\$	15.78	\$	3,945.00	
				SECTION 3: DIES	EL EXHAUST	FLUIC	(TOTAL)	\$	5,949.80	

ITEM NO.	DESCRIPTION	BRAND/MAKE	VISCOSITY	UNIT OF MEASURE (UOM)	ESTIMATED QUANTITY	PRICE (PER UOM)		TOTAL
		SEC	TION 4: GEA	R LUBE				
4.1	Full Synthetic (GL-5)	TEXSTAR	75W-90	Quart Bottle	24	\$	8.99	\$ 215.76
4.2	Full Synthetic (GL-5)	CAM2	75W-90	Pail (5 Galion)	2	\$	150.98	\$ 301.96
4.3	Full Synthetic (GL-5)	CAM2	75W-90	120-LBS (DRUM)	2	\$	476.00	\$ 952.00
4.4	Full Synthetic (GL-5)	CAM2	80W-90	BULK (Gallons)	75	\$	13.19	\$ 989.25
				SEC.	TION 4: GEAR	LUB	E (TOTAL)	\$ 2,458,97

#### RFB2025-3658 OILS & LUBRICANTS FOR COUNTY VEHICLE FLEET, MACHINERY, AND EQUIPMENT

	This	s form shall be typewrit	ten. Handwri	itten forms will not	be accepted.				
ITEM NO.	DESCRIPTION	BRAND/MAKE	VISCOSITY	UNIT OF MEASURE (UOM)	ESTIMATED QUANTITY	PRICE (PER UOM)		TOTAL	
		SECTION	5: TRANSMI	SSION FLUÍD					
5.1	Full Synthetic Multi Vehicle ATF	TEXSTAR	ATF	Drum (55 Gallon)	2	\$	666.67	\$	1,333.34
5.2	Full Synthetic Multi Vehicle ATF	TEXSTAR	ATF	Quart Bottle	24	\$	7.50	\$	180.00
5.3	Full Synthetic - Allison TES668 / TES295	Castrol Tran-Syn	ATF	Pail (5 Gallon)	4	\$	200,00	\$	800.00
*5.4	Allison TES668 / TES295	Castrol Tran-Syn	ATF	Pail (5 Gallon)	6	\$	200.00	\$	1,200.00
*5.5	Allison TES668 / TES295	Castrol Tran-Syn	ATF	Drum (55 Gallon)	2	\$	1,945.53	\$	3,891.06
5.6	CATERPILLAR TO-4	Castrol	50W	Drum (55 Gallon)	1	\$	1,165.00	\$	1,165.00
				SECTION 5: TR	ANSMISSION	FLUI	D (TOTAL)	\$	8,569.40

ITEM NO.	DESCRIPTION	BRAND/MAKE	VISCOSITY	UNIT OF MEASURE (UOM)	ESTIMATED QUANTITY	PRICE (PER UOM)		TOTAL
		SE	ECTION 6: GI	REASE				
6.1	Synthetic EP#2 with 5% Moly	MYSTIK	EP#2 with 5% Moly	120 LBS (Keg)	2	\$	577.43	\$ 1,154.86
6.2	Synthetic EP#2 with 5% Moly	MYSTIK	EP#2 with 5% Moly	Tube (14 oz)	50	\$	4.43	\$ 221.50
6.3	Lithium Grease - Hi Temperature	CAM2	EP#2	Tube (14 oz)	30	\$	2.71	\$ 81.30
6.4	Lithium Grease	CAM2	MP#2	120 LBS (Keg)	1	\$	440.29	\$ 440.29
					SECTION 6: GR	EASI	E (TOTAL)	\$ 1,897.95

ITEM NO.	DESCRIPTION	BRAND/MAKE	VISCOSITY	UNIT OF MEASURE (UOM)	ESTIMATED QUANTITY	PRICE (PER UOM)	TOTAL		
	SECTION 7: COOLANT / ANTIFREEZE								
*7.1	CC36077 ES Compleat OAT/PG (Red)	PEAK FINAL CHARGE	50/50 PREMIX	Drum (55 Gallon)	3	\$ 468.88	\$	1,406.64	
*7.2	CC36077 ES Compleat OAT/PG (Red)	PEAK FINAL CHARGE	50/50 PREMIX	JUG (1 Gallon)	48	\$ 7.87	\$	377.76	
*7.3	CG8972 ES Compleat OAT/PG (GREEN)	PEAK FINAL CHARGE	50/50 PREMIX	Drum (55 Gallon)	3	\$ 468.88	\$	1,406.64	
*7.4	CG8972 ES Compleat OAT/PG (GREEN)	PEAK FINAL CHARGE	50/50 PREMIX	JUG (1 Gallon)	48	\$ 7.87	\$	377.76	
7.5	Universal - All Make/Model	PEAK BLUE MOUNTAIN LONG LIFE	50/50 PREMIX	JUG (1 Gallon)	60	\$ 5.22	\$	313.20	
7.6	Universal - All Make/Model	PEAK BLUE MOUNTAIN LONG LIFE	50/50 PREMIX	Drum (55 Gallon)	1	\$ 373.13	\$	373.13	
7.7	Heavy Duty (Red) CES 14439 Certified	PEAK FINAL CHARGE	50/50 PREMIX	JUG (1 Gallon)	60	\$ 7.87	\$	472.20	
				SECTION 7: COO	LANT / ANTIFR	EEZE (TOTAL)	\$	4,727.33	

ITEM NO.	DESCRIPTION	BRAND/MAKE	VISCOSITY	UNIT OF MEASURE (UOM)	ESTIMATED QUANTITY		CE (PER IOM)	<b>FOTAL</b>
		SECTION 8	: TWO-CYCL	E ENGINE OIL				******
8.1	Synthetic Multi-Purpose	MYSTIK (Syn blend)	2 - Cycle	Drum (55 Gallon)	1	\$	1,024.29	\$ 1,024.29
				SECTION 8: TWO-	CYCLE ENGIN	E OIL	(TOTAL)	\$ 1.024.29

ITEM NO.						
	SECTION 9: ITEMS NOT LISTED					
9.1	Percentage Mark-Up over cost of all products provided by Vendor and not listed separately in Bid Form					

TOTAL BID (SECTIONS 1 - 8) \$ 75,697.33

#### BID FORM NOTES / INSTRUCTIONS:

- 1
- Bidders must specify the Brand/Make for each item listed in the bid form by completing the "Brand/Make" column. Items marked with an asterisk (\*) indicate the preferred brand. If supplying the preferred brand, only pricing is required.

#### RFB2025-3658 OILS & LUBRICANTS FOR COUNTY VEHICLE FLEET, MACHINERY, AND EQUIPMENT

This form shall be typewritten. Handwritten forms will not be accepted.

If the preferred brand is unavailable, bidders should provide an equivalent alternative along with the corresponding pricing.

#### RFB2025-3658 OILS & LUBRICANTS FOR COUNTY VEHICLE FLEET, MACHINERY, AND EQUIPMENT

This form shall be typewritten. Handwritten forms will not be accepted.

CHECK TOTALS! The County is not responsible for mathematical errors.

#### INSTRUCTIONS

Bids must be received no later than the date and time stated in the Advertisement. Bids received after that time & date will not be considered.

This form must be returned with bid. Bids on any other form will not be accepted.

Company Name	Name of Authorized Representative (Print)
Palmdale Oil Company, LLC Street Address	Scott Realander Title
7111 Fairway Drive Ste 450 City, State, Zip	Contract Manager E-mail Address
Palm Beach Gardens, FL 33418	srealander@palmdaleoil.com
Telephc 1-800-785-7114	Authorized Signature XXXII Redando